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ffoiad & & @ aF We a1 qa
Rrgr= el & ?

(A) T

(B) UGRBHITRT

(C) XM fa=or

(D) e

&3 H WFY A0 59a wead § e
T I B

(A)  THHIT TIeT

(B) URIHIRT

(©) WHfE TP

(D) Suga Wl

U6 JANT | AGRBHIRT R I § 7eg
PRAT T

(A) AT qETE

(B) YA &I UM

(© wmafie Ffe

(D) SUYa H A Bl 7l

Ag-105

(3)

Which one is not a basic principle of

design ?

(A) Replication

(B) Randomization

(C) Local Control

(D) Precision

Local control in the field is maintained

through :

(A)  Uniformity trials

(B) Randomization

(C) Natural factors

(D) All of the above

Randomization in an experiment helps to

eliminate :

(A) Human bias

(B) Calculation of replication

(C) Experimental error

(D) None of the above
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4. UG FfC 3HS BRI B & - 4.  Experimental error is due to :

(A) TINTHAT DT Tl (A) Experimenter’s mistake
(B) ¥ BRP (B) Extraneus factor
(C) STAR H M=ar (C) Variation in treatments
(D) SUYa H H I el (D) None of the above
£ A RGET e om0 w@y @ 5 Lol control s a device to
S T ST 3| maintain .............. .
(A) <Pl & AR THKU (A) Homogeneity within blocks
(B) idl & 4/ THwudl (B) Homogeneity among blocks
(© (A) 3R (B) (C) Both (A)and (B)
(D) (A) 3R (B) # & FIx Tel (D) Neither (A) nor (B)

6. 9 SUARI 3N 45 UG gHpIgAT & AU 6. In a CRD with 9 treatments and 45

experimental units, the treatment degree

A AR, S § STERI $F WA T ©

of freedom is ;

A 9 (A) 9
(B) 45 (B) 45
(C) 8 C) 8
(D) 44 (D) 44
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7. oifed o 3fddHor B 7. A Latin square designis a:

(A) TP FfeeTdd Hdmed (A) One restrictional design
(B) T UfeeTcH® Srfidhed (B) Two restrictional designs
(C) I YfcrdeTcHd 3Tf¥dheur (C) Three restrictional designs
(D) YfISeTHS fed AHHeT (D) Non-restrictional design
8. AN AW & SUINT Hx dlell CRD & 8. Error sum of squares in RBD as
qerl ¥ RBD # _ﬁr% & i B A R compared to CRD wusing the same
material is :
(A) oH (A) Less
(B) SyraT (B) More
(C) IR (C) Equal
(D) SUYd H H I el (D) None of the above

9. 52 dlfed au AfdHer H Ffe @ W= 9. Ina 52 Latin square design, the error

G 2l degree of freedom will be :
(A) 25 (A) 25
(B) 10 (B) 10
(C) 32 (C) 32
(D) 12 (D) 12
10. CRD H qw Y&l &l & @ 10. Missing observation in a CRD is to be :
(A) 3dHferd (A) Estimated
(B) 3T (B) Guessed
(C) faafua (C) Deleted
(D) SUYa H A Bl 7l (D) None of the above
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11.

12.

13.

14.

ASFBhHGT @i AfdHedT H Bl € -
(A) T TRE F G

(B) Tdh TRE H TR0

(C) oH e | Tiepxor

(D) aTexor fed

b @l 3R v SUAR & AT RBD H S
EIRSIREIRGICI

(A)
(B)
©
(D)

b(v-1)
(b-1)(° -1)
’(b-1)

bv -1

RBD & Wics oliTSc # ifd
feem # a7d 2

(A) SIRAT Yaurdl & foRo
(B) ARGT YAVl & AR
(C) SIRAT YaUrdT & ofvaq
(D) SWad # ¥ DS T2

(2 = x)¥ % fOWR o 1697 Ug ®

(A) X15
(B) 544
(C) 544x'®

(D) — 544 x5

Ag-105

(6)

11.

12.

14.

A randomized block design has :

(A) Two-way classification
(B)
(©)

(D)

One-way classification
Three-way classification

No classification

RBD with b block and v treatments, the

error degree of freedom is :

(A)
(B)
(©)
(D)

b(®-1)
(b-1)( -1)
v (b-1)
bv —1

In the field layout of a RBD, the blocks
are formed in the direction :

(A) Diagonally to fertility gradient

(B) Parallel to fertility gradient

(C) Perpendicular to fertility gradient
(D) None of the above

The 16th term in the expansion of
(2 = x) is:

(A) xS

(B) 544

(C) 544 x5

(D) —544x'

Set-C



15.

16.

17.

18.

Ag-105

(iwx]lz % fowaR & 7929 U ©

(A) 9242°b°
(B) a®b®
(C) 924
(D) 12

2] R A % g v
DI

(A) 10
(B) 252
(C) 2052
(D) 520

I Hdad | 17.

c,t2c,*3c, ... *nc, =2
(A 2t
(B) n
(C) n?

(D) n.2"t

f(x) = eX g 18.

(A) oy wed

(B) ST el
(C) HIdig Bed
(D) 9N Wer

(7)

15.

16.

Middle term in the expansion of

( \12
Li + be IS:
X
(A) 924a°p®
(B) a®b®
(C) 924
(D) 12
Find the term which is independent of x

) . ( 1)
in the expansion of L x + —J :
X

(A) 10
(B) 252
(C) 2052
(D) 520

In usual notation

c,t2c, t3c, ... tnc, =2
(A) 2n’1
(B) n
(C) n?
(D) n.2"t
f(x) = eXis:
(A) Trigonometric function
(B) Logarithmic function

(C) Exponential function

(D) Algebraic function

Set-C



19. q ®Id ® ?ﬂQ, GG y = q*, y=1296 19. For the function y = q*, y = 1296 and

AN x=4: x=4,findq:
(A) 4 (A) 4
B) 5 (B) 5
(C) 6 (C) 6
D) 7 D) 7
20.  log,,, 49 I A 4aISd 20. Find log,,, 49 :
w ® =
3 3
(B) 343 (B) 343
(C) 49 (C) 49
(o) 2 (o) =
49 49
21. log,a*log,b*log,c=? 21. log,a*log . b*log,c=?
(A) a (A) a
B) b (B) b
€ ¢ (C) ¢
D) 1 (D) 1
22. ;—X(ax):? 22. dd—x(ax)=?
(A) a* (A) a*
(B) a*(log, a) (B) a*(log, a)
(C) e* (C) e
(D) «x* (D) «x*®
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23. 3Ilg f(x) = logs X, ar f(5) =d PIFTT 23. If f(x) = log, x, findf(5):

(A) 5 (A) 5
(B) x° (B) x°
© 1 ) 1
(D) s~ (D) s*
24. d—(x sin x) = ? 24. d—(x sin x) = ?
dx dx
(A) sinx+cosx (A) sinx+cosx
(B) xcosx+sinx (B) xcosx +sinx
(C) xsinx (C) xsinx
(D) xcosx (D) xcosx
25. d_(eax2+bx+c) =9 25. d_(eax2+bx+c) =9
dx dx
(A) (2ax * b)ed Tbx’e (A) (2ax * b)ed ox'e
(B) eax2+bx+c (B) ea><2+b><+c
(C) 2ax+b (C) 2ax+b
(D) SUYa H H IS el (D) None of the above
26. AR y-Jxt o=, @ L o HMT 26, If y - Jx+ —, then find L when
\/; dx \/; dx
STdfh x =4 : X=4:
a 2 @
9 9
B) > ® —
16 16
© > © >
9 9
D) = D) -
16 16

Ag-105 (9) Set-C



( ) ( )
27 AR y=ax, W Lxd—y—w & A 27, Ify:ax7,thenfinded—y—7yJ:
dx dx
ST DINTY
(A) 2 (A) 2
B) 0 (B) 0
<€ 7 (Cc) 7
D) 1 (D) 1
28. d—(Iog sin x3) =2 28. d—(Iog sin x3) = 2
dx dx
(A) 3x2cotx® (A) 3x2cotx?
(B) x?tan x3 (B) x?tan x3
(C) x2cotx (C) x?%cotx
(D) SWE ¥ ¥ IS el (D) None of the above
29, Ife (ax2 + by2 + 2hxy + ¢) = 0, ar dy 29. If (ax? * by?2 * 2hxy * ¢) = 0, then find
dx
dy .
ST DINTT : dx
+ +
(A) _ax+hy (A) _ax+hy
by ™ hx by * hx
(B) 2ax+ 2by (B) 2ax+ 2by
(C) 2hx (C) 2hx
(D) 2hy (D) 2hy
d [ tan x ) d [ tan x )
- + X = _ + A X =
30. de » e J ? 30. de » e J ?
(A) (x sec? xz‘ tan x) (A) (x sec? x2‘ tan x)
X X
X 4+ 2 — X + 2 _
(B) e (x seczx tan x) (B) e (x seczx tan x)
X X
(C) xsec? x ~ tan x (C) xsec? x ~ tan x
(D) ija\——r ¥ 3 Blg el (D) None of the above

Ag-105 (10) Set-C



31. RIS 3ifhs Tohd U W & : 31. Statistical data are collected for :

(A) o foh Se @ (A) Without any purpose
(B) TH AU Y 32T & forv (B) A given purpose
(©) fodt off 9297 @ forw (C) Any purpose
(D) SUga H H Bl el (D) None of the above
32, Ud AIIRYT dlferal Gfaf~ifded ol 2 32.  Asimple table represents :
(A) DI T DRE IT TR (A) Only one factor or variable
(B) T T BRE AT N (B) Always two factors or variables
© 3 7 Afd PRB T TR (C) Two or more factors or variables
(D) SUYw H H IS el (D) None of the above
33. ®MF-WT S SMATH ARG § ? 33.  Which one is a one-dimensional diagram ?
(A) UE-TC (A) Pie-chart
(B) fRiefe? (B) Cylinder
(C) I (C) Agraph
(D) TS INT (D) Bar diagram
34, T GEIRI 16 3R 25 FT YUK A @ 34. Geometric mean of two numbers 16 and
25is:
(A) 15 (A) 15
B) 5 (B) 5
(C) 20 (C) 20
(D) 4 (D) 4
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35. N el BT AT 4200 3R AT 2108, @ 35.  Sum of N observations is 4200 and their

mean is 210, then the value of N is :

N & A & :

(A) 50 (A) 50

B) 21 (B) 21

(C) 42 (C) 42

(D) 20 (D) 20
36. W WU : 36. Range is a measure of :

(A) B TgRT @ (A) Central Tendency

(B) fagror @ (B) Dispersion

(C) IRy &1 (C) Probability

(D) SWE ¥ ¥ IS el (D) None of the above
37. HrE fdger B gHG WEl g Bl 37.  The mean deviation is always minimum

¥ about :

(A) HrEg (A) Mean

(B) dgdd (B) Mode

(C) wfeadm (C) Median

(D) M HIF (D) Arbitrary value
38. 5,5 53R 5 @ YR 3 38. Variance of 5,5,5and 5 is :

(A) 0 (A) 0

(B) 25 (B) 25

(C) 10 (C) 10

(D) 5 (D) 5

Ag-105 (12) Set-C



39.

40.

41.

42.

Ag-105

erRoT OT T I €

(A) 100 x 1. {d. /A1y
(B) 100 x A1y /. f4.
(C) 100 /(AT x 1. fd)
(D) SW@ ¥ ¥ FI5 Tl

(A)

(B) (Q; Q)

(C) (Q;%Qy)

(D)

TRIAdT BT e fohdT T Fepal 2

(A) g
(B) I
(C) fera
(D) Sugad FI

I AIMRBAITRIE TATB D
gfed 89 o e < S 2

(A) P(A)+P(B)
(B) P(avB
(C) P(A"B)
(D) P(A).P(B)

(13)

39.

40.

41.

42.

Formula of Coefficient of Variation (CV)
IS :

(A) 100 x S. D./Mean

(B) 100 x Mean/S. D.

(C) 100/(Mean x S.D.)
(D) None of the above

Quartile deviation is given by the formula :

(Q; ¥ Qj)
2

(A)

(B) (Q; Q)
C) ((Q;%Qy)

(Q; ~ Q)
2

(D)

Probability can be expressed as :

(A) Ratio

(B) Proportion

(C) Percentage

(D) All of the above

If A and B are two events, the probability

of occurrence of either A or B is given
as:

(A) P(A)+P(B)
(B) P(avB)
(C) P B)
(D) P(A).P(B)

Set-C



43. Yfoest AeeN 99da1 2 : 43. A sample consists of :

(A) Jafte o i sHRA | (A) all units of the population

(B) THfE BT 25% sHT3AT A (B) 25 percent units of the population
(C) e B 50% sHIAT A (C) 50 percent units of the population
(D) e & ol o1 3foT 9 (D) any fraction of the population

44. FENT doad § yfaesr o ey Sidr 44. In usual notation sampling fraction is

3 givenas:
A = RS
® = ® =
© - © -
© - © =

45 gfoedl smeR H z(_r@ P Holwy Bl 45. Sample size increase leads to :

g

(A) TR S T (A) No effect on sampling error
(B) TGRS H Bl (B) Reduction in sampling error
(C) AR e H qfg (C) Increase in sampling error
(D) SUYa H A Bl 7l (D) None of the above

Ag-105 (14) Set-C



46. TEERV FC BN BH fbar o Wear 46,

2
(A) & Sfod wRear  gfoes @
T IRD

(B) W PR & Ufesl & WA

IND
(©) (A) 3R (B) 3

(D) (A) 3R (B) ¥ & @I el

47. TREIT $ ded URGUT B 47.

(A) I ARG
(B) ddfeud IREGT
(©) ¥ IRaeE
(D) Suga H A Bl 7l

48. WG B Pifc Fed 2 48,

(A) Uo T H Wad Yl @l AR
i

(B) Ve Fedd H Uevll &I G |

(C) WY & Ted IRGUT |

(D) SUYa H A Bl 7l

Ag-105 (15)

Sampling error can be reduced

by :

(A)

(B)

(®)

(D)

Choosing a proper probability

sampling

Selecting a sample of adequate

size

Both (A) and (B)

Neither (A) nor (B)

The hypothesis under test is :

(A)
(B)
(©)
(D)

Simple hypothesis
Alternative hypothesis
Null hypothesis

None of the above

Degree of freedom is related to :

(A)

(B)
(©)
(D)

Number of independent

observations in a set

Number of observations in a set
Hypothesis under test

None of the above

Set-C



49. Tl 9 @7 9dddr wR aR9ia foar 49. Level of significance of the test is defined

ST & 8-

(A) <Igu-I gf% Gore G IR el | (A) Probability of committing type-II
error

(B) CTEU-1I FfC HA B UIRID (B) Probability of committing type-I
error

(C) T URG ®I WIRS I, T4 (C) Rejecting null hypothesis when it is

TE A © true
(D) SWE ¥ ¥ IS el (D) None of the above

50. Y URBEU Bl WING AT Wldfh I8 50. Rejecting H, when H, isfalse ............. .

(A) TrEU-l e (A) Type-l error
(B) TTsU-Il Ffe (B) Type-Il error
©) @ F T (C) No error
(D) Suga H A Bl 7l (D) None of the above
51. WM YA IR BT TR 2 51.  Variance of standard normal distribution
is :
A) -1 (A) -1
B) 0 (B) 0
€ 2 (C) 2
DO 1 (D) 1

Ag-105 (16) Set-C



52.

53.

54,

Ag-105

Ho (R =W, M H k>0, W D
fore o9 wefe WMo fdged uar @, @9
SWIET Wi 2

(A) t-Sifd

(B) Zz-Vifd

(C) F-uifg

(D) STda # & @IS T

ST t-9i1d dadl 9 SYARTT g 91 :
(A) W T Wad &

(B) R T faaRd &f

(C) UfTee & PR <1 7 B

(D) SHIE W

i Z-statistic @1 IRBleTd HMH, RO}
AF W SR 8, @ Y URGe

(A) & I S Tl ©

(B) WHR &I Ol &

(C) RS & TR &

(D) SWad # | BIS T2

(17)

52.

53.

54.

mo>

To test Hy :H =K, vs. H,: 0

when population standard deviation is

known, the appropriate test is :

(A) t-test
(B) Z-test
(C) F-test

(D) None of the above

Student’s t-test is applicable only when :

(A) The variate values are independent

(B) The variables are distributed

normally

(C) The sample size is not large

(D) All of the above

If the value of calculated Z-statistic is
greater than tabulated value, the null

hypothesis is :

(A) Cannot say
(B) Accepted
(C) Rejected

(D) None of the above

Set-C



55.

56.

S57.

Ag-105

q TR YEROI B A BT W
o foba e ®

(A)  t-wer

(B) Z-WREY

(C) @Ie-a¥ ey

(D) F-T_ierr

319 WHfte S {9 91d @, a9 9t
T B IR W RS @ S gad
T @

(A)  Z-TRE

(B) t-TRIEY

(C) F-uiero

(D) PR-TIE

(18)

55.

56.

57.

Level of significance lies between :

(A) —1100

(B) Otol

(C) 1to02

(D) -1tol

Testing of equality of two population

variances is done by :

(A) t-test

(B) Z-test

(C) Chi-square test

(D) F-test

When population standard deviation is

known, the hypothesis about population

mean is tested by :

(A) Z-test

(B) t-test

(C) F-test

(D) Chi-test

Set-C



58. Hy:H=7 I H,:H>7 TR 58

@1 W[ & Howawy B © :
(A) TGRS il Yo qeiem
(B) TUHMGI 418 {5 weror
(C) TIRGT W

(D) SWE & W B &

59. fgfowrar amgfy & Frg-av wWieror & "ed  59.

¥ Wi 9= R

(A) 0
B) 2
) 1

(D) 4

60. YURYT fATeINOT YA Rl © - 60.

(A)  t-wer

(B) F-uXiero

Ag-105 (19)

Test of hypothesis H,:® =7 s,

H, : %> 7leadsto:

(A) One-sided right tailed test

(B) One-sided left tailed test

(C) Two-tailed test

(D) None of the above

The degree of freedom for Chi-square
test in case of dichotomised frequencies
IS :

(A) 0

(B) 2

) 1

(D) 4

Analysis of variance utilises :

(A) t-test

(B) F-test

(C) Z-test

(C) Chi-test

Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® WA & IR GRITad StR—
A,B,CTd D | Wemdi & 89 9 fadwedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 (A ® ©

wm: D @ © ©

TSI IR AT U IR I8 PIeT AT 98a T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3. TH. IR, ST-T986 (OMR
Answer Sheet) WX 2 f 9 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. 3R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE &RM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, YEH-GRADET T 3 H, H-IR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-gab, Defdeicy, Yok a2l Heger

B o ST 9T SHBT SN AT Iioid 2 |

T & faval U9 3o SurRer § =TT 8 @l
T H YT BT U WUARYT & A B |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

2y
i3
E
oy,
a,
j
8
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